The paragraph which contains Equation (20) in [1] is not correct. The paragraph
should be replaced with the following paragraph:

When c,1[n] is odd, it follows that si1[n] = 0, (10) implies that the top output of the
Sk,1 switching block is
ol = B0, (20)
and (17) implies c{'|[n]=1 and c¢{[n]=0 or vice versa. If ¢{}'[n]=0, then (17) implies
that (20) holds if the top output of the Sk switching block is obtained by right-shifting
the k&—1 MSBs of cx.1[n] by one and setting c¢{_} [n]=0. If ¢{)[n]=1, then (17) implies
that (20) holds if the top output of the Sk switching block is obtained by right-shifting
the k—1 MSBs of cx1[n] by one and setting c}{jgl[n] =1. Therefore, whenever ci1[n] is
odd, the top output of the Si1 switching block can be obtained by right-shifting the -1
MSBs of cx.1[n] by one and setting c{"},[n]=c}][n].
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